
Examples
1) Find the angles marked with the letter

We have the hypotenuse and the opposite but need to work out the angle.  This shows we use the sin formula.


sin x = O
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O = 2.6  H = 5.2  x = ?(







sin x =  2.6
     
   5.2

sin x = 0.5

      x = sin-1 0.5    [Calculator: shift sin 0.5 =] 

      x = 30(  

2) Find the angle marked with the letter.

We have the adjacent and the hypotenuse.  We need to work out the angle. This show we use the cos formula. 

cos x =  A
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A = 4    H = 5    x = ?(













 4 cm



cos x = 4
   5

cos x = 0.8

      x = cos-1 0.8
[Calculator: shift cos 0.8 =]

      x = 36.86989(
      x = 36.9( (to 3 s.f)

3) Find the length of the side marked with the letter.

10 cm  (A)
We have the adjacent and the opposite.  These show we use the tan formula.





tan x = O
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A = 10    O = 5    x = ?(







tan x = 5     
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tan x = 0.5



       

         


      x = tan-1 0.5
[Calculator: shift tan 0.5 =]








      x = 26.56505(







      x = 26.6( (to 3.s.f)







